Answers to 17 Curve Sketching
1) 2)

3‘ \Y x-intercepts at x = -3, 0 T 8 Y T x-intercepts at x = —\/5 " \/5
o y-intercept at y =0 y-intercept at y = 1
\ b No vertical asymptotes exist. \ 4 I No vertical asymptotes exist.
\ 4 No horizontal asymptotes exist. \ 4 l No horizontal asymptotes exist.
2 Critical points at: x = -2, 0 3 Critical points at: x =-V2, 0, V2
| > 9 Wy
Increasing: (=2, 0) Increasing: (—\5, 0), (\[2—, 00)
T, \ 4 ’x Decreasing: (-, -2), (0, =) L 6 4 2 2 4 x Decreasing: (—oo, —\/E) (0, \/E)
~2 Inflection point at: x = -1 =2 . ) o V6 6
i Concave up: (-0, ~1) -4 Inflection points at: x = — "y T
<t \ Concave down: (-1, ) » e\ ([«
\’ . o 1 Concave up: —oo,—T A3 ©
wf) Y Relative minimum: {-2, —? 8 \/_
\ Y 6 N6
Relative maximum: (0, 0) Concave down: (_ ——
Relative minima: (~\/5 0), (\6 0)
Relative maximum: (0, 1)
8k d x-intercepts at x = —\/g, 0, \3 8‘ Y . x-intercepts at x = -1-va1 ‘21, 0, SN2l
y-intercept at y =0 f ) B 2 2
N No vertical asymptotes exist. N J-intercept at y= 0 )
4 No horizontal asymptotes exist. No vertical asymptotes exist.
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No horizontal asymptotes exist.
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Critical points at: x = ———, 0, — e ;
< > pom ) 2 _ o Critical points at: x = — % 1
8 % 4 4 X . N6\ [ V6 B 42 [ 2 ¢ i~
2 Increasing: | -o0, - ——|, |0, — ) : 5
B 5 Increasing: |0, 5 (1, )
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Decreasing: (-? 0)’ ( 2 \)/_
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\ Inflection points at: x = —

V7 2

Concave up: (~ pma —)
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....... Decreasing: (~~§—, l)
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Inflection point at: x = — 3
2 B Concave up: (— ;w oo)
1
Concave down: (— 0, — ?)
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( V6 2) Relative minimum: (l, i )
4

Relative maxi um( J 175)
ve maximum: |- —, ——
37324

5) 6)

e No x-intercepts. 3k Y x-intercept at x = 0
y-intercept at y = -1 y-intercept at y =0
E Vertical asymptote at: x = | i k| Vertical asymptote at: x = 1
4 Horizontal asymptote at: y = 0 4 = il No horizontal asymptotes exist.
5 No critical points exist. 2 Slantasymptors: = X L
. Increasing: No intervals exist. _ o ' 2 " 2
s 2 4 x Decreasing: (oo, 1), (1, o) T8 6 4 2 4 x Critical points at: x = 0, 2
-2 No inflection points exist. // =2 Increasing: (~ e, 0), (2, )
4 Concave up: (1, ) 1 4 Decreasing: (0, 1), (1, 2)
-6 Concave down: (-, 1) 6 No inflection points exist.
No relative minima. i Concave up: (1, «)
_8¢ No relative maxima. °' Concave down: (—e, 1)
Relative minimum: (2, 2)
Relative maximum: (0, 0)
7) 8)
ST Y x-intercept at x = 0 A gA Y . Xx-intercepts at x = -2, 0
y-intercept at y =0 “ . y-interceptat y =0
ki Vertical asymptote at: x = ~2 ! hi  No vertical asymptotes exist.
4 No horizontal asymptotes exist. T \ 4 No horizontal asymptotes exist.
2 Slant asymptote: y = -% + % 2 Critical points at: x = ~%, 0
REEEE T ~4_ 8 'y Critical points at: x = -4, 0 B4 2 |\ A P (_ 4 0)
2 Increasing: (=4, -2), (=2, 0) 2 niereasing: | =3
il Decreasing: (—, —4), (0, ) | wdl e 4
- No inflection points exist. , 6 \ Dirareaing (ﬁ i ?)’ (0, )
Concave up: (-, -2) . L e 2
8¢ Concave down: (~2, ) o' \ Inflection point at: x =— ?
Relative minimum: (-4, 2) 7
Relative maximum: (0, 0) Concave up: (_°°’ - ?)

2
Concave down: (— 3 eo)

Relative minimum: (— . E)
137 81
Relative maximum: (0, 0)
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